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[CB-BC322/CB-BC342] 
AT THE END OFTHIRD SEMESTER 

DEGREEEXAMINATIONS 

COMMERCE-BUSINESS STATISTICS 

(COMMON FOR B.Com (GENERAL),B.Com 

(VOCATIONAL)) 
(From The Admitted Batch of 2015-16) 

(CBCS PATTERN) 
Time 3 Hours Maximum:75 Marks 

SECTION -A 

Answer any FIVE questions. 

(5x5-25) 
1. Distrust of statistics. 

hearos o enyso. 
Write the uses of Diagrammatic Representations. 

o& 

18,000 [Turn over 



(2) [CB-BC322/CB-BC3421 

3. Essentials of Good Average. 3. 

4. Calculate the Harmonic mean of the given data. 
4. 

X:85, 70, 10,75, 500, 8,42, 250, 40, 36. 

5. Write the merits and demerits of Range. 

Calculate Mean- Deviation from the given data. 
6. 

Annual Income: 

edbo: 480 650 370 600 300 240 1200 

Write about various types of correlation. 
7. 

Explain cyclical variation. 
8. 
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SECTION -B 

Answer ALL the questions. 

(5x10-50) 
Define statistics. Explain the features and its 

functions. 
9. a) 

(OR/do) 
Distinguish between primary data and secondary b) 
data. 

10. a) Find median for the given data. 

Marks: 

More than 0; More than 10; More than 20; More than 30; 

No.of Students: 

140 100 80 150 

Marks: 

More than 40; More than 50; More than 60; More than 70; More than 8o 

No.of Students: 

70 30 14 80 

[Tun over 
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(OR/d) 

b) Calculate mode from the following data. 
b) 

0-9 10-19 20-29 30-39 40-49 50-59 60-69 70-79 80-89 90-99 

X 

87 181 247 263 133 43 
f 6 29 

11. a) Calculate Karl pearson's co -efficient of skewness 
from the given data. 

38oo. 

Wages: 

200 300 400 S00 600 00 800 00 
38: 100 

No. of. 

Workers 

20 10 30 30 40 15 15 2 So: 500 

(OR/d) 

b) Calculate standard deviation from the following 
data. 
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Temp 0c: 

40to-30 -30to-20 -20to-10 10 to-0 10 10-20 20-30 

No. of days: 

10 28 30 45 180 10 

12. a) 12. a) Calculate the co-efficient of correlation for the 
following ages of husbands and wifes in years. 

sowó Kocaaoo a8osod 

Ages of 

Husbands: 

23 27 28 29 30 31 33 35 36 

doroyer 

Ages of 

Wifes 

18 20 22 21 29 27 29 28 29 

[Tunover 
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(OR/d) 

Compute regression equations for the following 
b) 

data. 

6 7 8 9 X: 2 3 4 

Y 9 8 10 12 11 13 14 16 15 

5 

13. a) From the following data construct fisher ideal index 

number and how its satisfies Time and factor 

Reversal Tests. 

rbosoa 

Current year Commodity Base year 

(so soshóo) SKOSsH6o) 

Price Quantity Price Quantity 

50 .10 56 
A 6 

100 2 120 B 2 
60 6 60 C 4 

30 12 24 D 10 

40 12 36 E 8 
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(OR/6) 
Fit a straight line trend by the method of least 

squares to the following data. 

b) 

$ogPdosod. 

X(year) 2011 2012 2013 2014 2015 2016 2017 

90 92 83 94 99 92 YProduction): 80 
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